Rate Card 2023





CAMERAS

Di	gital Cameras	
ARRI Alexa 35	£950 / Day	£2,850 / Week
ARRI Alexa Mini LF	£850 / Day	£2,550 / Week
ARRI Alexa Mini	£400 / Day	£1,200 / Week
SONY Venice 6K	£700 / Day	£2,100 / Week
Red Komodo 6K	£200 / Day	£600 / Week
Sony FX6	£175 / Day	£525 / Week
F	ilm Cameras	
Arriflex 435 Xtreme Super 35mm	£600 / Day	£1,800 / Week
Arriflex 2C 2-Perf Super 35mm	£300 / Day	£900 / Week
Eyemo 2 Perf Super 35mm	£200 / Day	£600 / Week
Arriflex SR3 Super 16mm	£500 / Day	£1,500 / Week
Bolex H16 w/PI Mount Super 16mm	£200 / Day	£600 / Week
Braun Nizo 801 Super 8	£50 / Day	£150 / Week

LENSES		
Full Fr	ame Primes	
Arri Signature Primes (LPL) 18, 21, 29, 35, 47, 57, 58, 75, 95mm	£POA / Day	£POA / Week
Canon FD (PL) (Zerø Optik Rehouse) 14, 24, 35, 55, 85, 100, 135mm	£600 / Day	£1,800 / Week
Nikon AIS FF Primes (PL) (Zerø Optik Rehouse) 20, 28, 35, 50, 85, 105mm	£500 / Day	£1,500 / Week
Sigma FF Cine Primes (PL) 14, 20, 24, 28, 35, 40, 50, 85, 105mm	£POA / Day	£POA / Week
Mamiya Cine Modded Primes (LPL) 35, 45, 55, 80, 110, 150mm	£250 / Day	£750 / Week
Laowa Pro2be Probe Kit (PL) Inc Direct, 35 degree & Periscope Module	£250 / Day	£750 / Week
Laowa 100mm Macro (PL) T/2.9	£75 / Day	£225 / Week
Laowa 12mm Zero-D (PL) 7/2.9	£75 / Day	£225 / Week
Full Fr	ame Zooms	
TLS Aurora 24-70mm T/2.8	£250 / Day	£750 / Week
TLS Morpheus 80-200mm T/2.8	£250 / Day	£750 / Week
Voitlanger Zoomar 30-76mm T/3.1 (Ancient Optics Rehouse)	£300 / Day	£900 / Week

Super 35	5mm Primes	
ARRI/Zeiss Master Primes (PL) 18mm, 25mm, 35mm, 50mm, 75mm	£700 / Day	£2,100 / Week
Zeiss MK3 Superspeeds (PL) (TLS Rehouse) 18mm, 25mm, 35mm, 50mm, 85mm	£600 / Day	£1,800 / Week
Cooke Speed Panchros (PL) (TLS Rehouse) 18mm, 25mm, 32mm, 40mm, 50mm, 75mm	£400 / Day	£1,200 / Week
Arri Ultra Primes (PL) 16mm, 24mm, 32mm, 50mm, 85mm	£350 / Day	£1,050 / Week
Zeiss MK3 Superspeeds (PL) (TLS Rehouse) 18mm, 25mm, 35mm, 50mm, 85mm	£600 / Day	£1,800 / Week
Nikon 8mm Fisheye (PL) 7/2.8	£200 / Day	£600 / Week
Zeiss Standard Speed 14mm T/2.8	£100 / Day	£300 / Week
Laowa 24mm Cine Probe (PL) T/14	£75 / Day	£225 / Week
Super 35mm A	namorphic Primes	
Atlas Anamorphic (A) Set (PL) 40mm, 65mm, 100mm	£300 / Day	£900 / Week
Super 3	5mm Zooms	
Canon K35 25-120mm T/2.8	£350 / Day	£1,050 / Week
Angeniuex Optimo 15-40mm T/2.6	£300 / Day	£900 / Week
Angeniuex Optimo 28-76mm T/2.6	£300 / Day	£900 / Week
Cooke Varotol 20-100mm T/3.1	£200 / Day	£600 / Week
DZO Pictor 20-55mm T/2.8	£75 / Day	£225 / Week
DZO Pictor 50-125mm T/2.8	£75 / Day	£225 / Week
Super 16	6mm Primes	
Zeiss MK3 S16 Superspeeds (PL) 9.5mm, 12mm, 16mm, 25mm, 50mm	£300 / Day	£900 / Week
Elitve MK3 6.6mm T/1.3	£75 / Day	£225 / Week
Super 10	6mm Zooms	
Canon 8-64mm T/2.4	£150 / Day	£450 / Week
Canon 11-165mm <i>T/2.4</i>	£150 / Day	£450 / Week
Lens A	ccessories	
TLS 2x Extender	£75 / Day	£225 / Week
Optex 16mm 2x Extender	£50 / Day	£150 / Week

MONITORING		
Small HD 503 5" Onboard Monitor	£60 / Day	£180 / Week
TV Logic 058w 5"Onboard Monitor	£50 / Day	£150 / Week
Small HD 703 7" Field Monitor	£80 / Day	£240 / Week
Small HD 703 BOLT 7" Wireless Field Monitor	£120 / Day	£360 / Week
Small HD Cine 7 7" Handheld Monitor	£60 / Day	£180 / Week
Small HD 702 7" Field Monitor	£40 / Day	£120 / Week
Blackmagic Video Assist 7 7" Recording Monitor	£50 / Day	£150 / Week
Small HD 1303 13" Field Monitor	£100 / Day	£300 / Week
Small HD Cine 18 18" Field Monitor	£125 / Day	£375 / Week
Small HD Cine 24 24" Client Monitor	£150 / Day	£450 / Week

WIRELESS SYSTEMS		
Vaxis 3000 1:2 Kit 1TX & 2RX	£275 / Day	£825 / Week
Vaxis 1000 1:2 Kit 1TX & 2RX	£150 / Day	£450 / Week
Teradek 500 XT 1:1 Kit 1TX & 1RX	£100 / Day	£300 / Week

LENS CONTROL SYSTEMS		
ARRI Hi-5 LCS 3 Motor Kit	£300 / Day	£900 / Week
ARRI WCU-4 LCS 3 Motor Kit	£250 / Day	£750 / Week
Preston FIZ 3 Kit HU3, 2 Motors MDR 2	£250 / Day	£750 / Week
ARRI SXU-1	£75 / Day	£225 / Week
CINE RT Focusbug System 3 Bugs, HB & HSU	£150 / Day	£450 / Week
ARRI OCU-1 Operator Control Unit	£60 / Day	£180 / Week
Preston Microforce Analogue Push Zoom Unit	£150 / Day	£450 / Week
C-Motion Steady Zoom Push Zoom Unit	£150 / Day	£450 / Week
ARRI FF-5 Manual FF	£60 / Day	£180 / Week
Tilta Nucleus LCS 3 Motor Kit	£75 / Day	£225 / Week

MATTEBOXES		
ARRI LMB 4x5 Kit 3-Stage w/ 15 & 19mm mount	£75 / Day	£225 / Week
ARRI LMB-4 6x6 Kit 3-Stage Clip On	£60 / Day	£180 / Week
Tilta MB T-12 LMB 3-Stage Clip on	£35 / Day	£105 / Week
Bright Tangerine Misfit Atom Pola+ LMB	£35 / Day	£105 / Week
ARRI LMB Anti Reflection Tray	£15 / Day	£45 / Week
ARRI LMB 138mm Rotating Filter Tray	£25 / Day	£75 / Week
ARRI LMB 4x4 Filter Tray	£15 / Day	£45 / Week

FILTRATION		
Formatt Hi-Tech Firecrest ND Filters 0.3, 0.6, 0.9, 1.2, 1.5, 1.8, 2.1	£75 / Day	£225 / Week
Lindsey Optics Rota Pola 4x5.65 Tray Base Frame	£35 / Day	£105 / Week
Lindsey Optics Diopter Set 1/2, 1, 2 (4x5.65 Tray Base Frame)	£60 / Day	£180 / Week
Lindsey Optics Diopter Set 1/2, 1, 2, 3 (138mm)	£60 / Day	£180 / Week
Tiffen Black Pro-Mist 1/8, 1/4, 1/2, 1, 2	£60 / Day	£180 / Week
Tiffen Glimmer Glass 1/8, 1/4, 1/2, 1, 2	£60 / Day	£180 / Week
Tiffen Pearlescent 1/8, 1/4, 1/2, 1, 2	£60 / Day	£180 / Week
Tiffen Black Satin 1/8, 1/4, 1/2, 1, 2	£60 / Day	£180 / Week
Schneider Hollywood Black Magic 1/8, 1/4, 1/2, 1, 2	£60 / Day	£180 / Week
Tiffen SE Grad ND's 0.3, 0.6, 0.9, 1.2	£50 / Day	£150 / Week
Tiffen Optical Flat	£50 / Day	£150 / Week
Prism FX Cine Pack Split Diopters Split Diopter, Kaleidoscope Diopter	£50 / Day	£150 / Week
Tiffen 85C ND Filters 4x4 0.3, 0.6, 0.9, 1.2	£50 / Day	£150 / Week
Tiffen BPM 1/4 82mm Screw In	£15 / Day	£45 / Week
Hoya Rota Pola 82mm Screw In	£15 / Day	£45 / Week
Tiffen Variable ND 82mm Screw In	£15 / Day	£45 / Week

POWER		
Bebob 150wH Micro V-Mount Batteries 6-Way Kit w/ 4 Way Charger	£75 / Day	£225 / Week
Bebob 98wH Micro V-Mount Batteries 4-Way Kit w/ 4 Way Charger	£50 / Day	£150 / Week
Bebob 155wH B-Mount Batteries 6-Way Kit w/ 4 Way Charger	£125 / Day	£375 / Week
Bebob 98wH Hotswap B-Mount Battery For use with Alexa 35	£25 / Day	£75 / Week
Hawk Woods Mini Xboxx 880wH 12v/24v Block Battery	£50 / Day	£150 / Week

	GRIP	
TRI	POD HEADS	
O'Connor 2575D Fluid Head	£190 / Day	£570 / Week
O'Connor 1040D Head (Inc. Legs)	£100 / Day	£300 / Week
Sachtler Video 18S2 Head (Inc. Legs)	£60 / Day	£180 / Week
Sachtler Video 18p Head (Inc. Legs)	£50 / Day	£150 / Week
Sachtler Aktiv 8 Head (Inc. Legs)	£35 / Day	£105 / Week
Vinten Pro Touch 10 Head (Inc. Legs)	£25 / Day	£75 / Week
Manfrotto 504 Head (Inc Legs)	£25 / Day	£75 / Week
TR	RIPOD LEGS	
Ronford Tall Legs (Moy)	£35 / Day	£105 / Week
Ronford Short Legs (Moy)	£30 / Day	£90 / Week
O'Connor 3-Stage Carbon Legs (100mm)	£20 / Day	£60 / Week
Sachtler 3-Stage Carbon Legs (100mm)	£20 / Day	£60 / Week
Sachtler 100mm Flowtech Legs	£25 / Day	£75 / Week
Н	II/LO HATS	
Ratworks Hi/Lo Hat (Moy & 100mm)	£30 / Day	£90 / Week
Benro 100mm Bowl Hi-Hat	£20 / Day	£60 / Week
	SLIDERS	
Ronford 4ft Slider (Moy)	£170 / Day	£510 / Week
Prosup Tango Roller Slider Kit	£100 / Day	£300 / Week
Dana Dolly Kit	£75 / Day	£225 / Week
	GIMBALS	
DJI Ronin 2	£250 / Day	£750 / Week
Freefly Movi Pro Kit (w/ Ignite Digi upgrades)	£250 / Day	£750 / Week
DJI RS3 Kit	£75 / Day	£225 / Week
	EASYRIGS	
Easyrig Vario 5 w/Stabil (G2)	£175 / Day	£525 / Week
Easyrig Vario 5 w/Serene	£150 / Day	£450 / Week
Apple Boxes	. GRIF EQUIP.	
1, 1/2, 1/4, 2x 1/8	£25 / Day	£75 / Week
Wedges (Box of 50)	£15 / Day	£45 / Week
Ronford Spider Dolly For Talls & Shorts	£35 / Day	£105 / Week
Camera Saddle Filma, Kirsten Custom bags, Cine Kinetic	£25 / Day	£75 / Week
Grovel Pad Various Sizes	£5 / Day	£15 / Week
Sandbag	£3 / Day	£9 / Week
Х-Вох	£10 / Day	£30 / Week
H-Plate w/Sliding Plate	£10 / Day	£30 / Week
Tilta Hydra Alien Car Mount System For Use with FX6 & RS3, Inc. remote control	£150 / Day	£450 / Week

CARTS		
Magliner Senior	£50 / Day	£150 / Week
Magliner Junior	£50 / Day	£150 / Week
Adicam Mini	£50 / Day	£150 / Week
Magliner Large Trough	£10 / Day	£30 / Week
Magliner Tripod holder	£10 / Day	£30 / Week
Magliner Nose Mount	£10 / Day	£30 / Week
Clean Camera Support Riser & Spinner	£10 / Day	£30 / Week
Clean Camera Support 80mm QR Plate Video 18p Size	£10 / Day	£30 / Week
Clean Camera Support 110mm QR Plate 2575D Size	£10 / Day	£30 / Week

MISC.		
Comms		
Hollyland C1 PRO 4-Way Kit £60 / Day £180 / Week		